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Instructions

Q1 is compulsory, carrying 15 marks. Attempt any 2 questions from the remaining, each
carrying 5 marks.

Q1. Case — attached
Q2. Discuss how Management Control differs from strategy formulation.

Q3. Explain the different types of organization structures, with their advantages and
disadvantages.

Q4. Sherwin Company makes bicycles. Various divisions make components and transfer them to
the Dayton division for assembly into final products. The Dayton division can also buy
components from external suppliers. The Toledo division makes the wheels and it also sells the
wheels to external customers.

All divisions are profit centres and managers are free to negotiate transfer prices. Prices and
costs for the Toledo division and Dayton division are as follows:

Toledo Division

Sale price to external customers $ 14
Internal transfer price ?
Costs
Variable costs per wheel $ 10
Total fixed costs $ 3,20,000
Budgeted production 64,000 wheels*

*Indicates production for transfer to Dayton

Dayton Division

Sale price to external customers $ 170

Costs

Wheels, per bicycle ?
Other components, per bicycle $ 85
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Other variable costs, per bicycle $ 45
Total fixed costs $ 6,40,000
Budgeted production 16,000 bicycles

Fixed costs in both divisions will be unaffected by transfer of wheels from Toledo to Dayton.

1. Compute the maximum transfer price per wheel the Dayton division would be willing to pay to
buy wheels from the Toledo division.

2. Compute the maximum transfer price per wheel at which the Toledo division would be willing to
produce and sell wheels to the Dayton division. Assume that Toledo has excess capacity.
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